[mams: )UK
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| KfE £ 5] & iS5
A 3ERKIEH B4y 15:25 10:58 11:46 13:00
A 6|k m 0.53 0.98 0.55 0. 30
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 2.5 6.5 6.8 26. 1
A 9PKIE C 7.0 5.7 6.8 19. 4
A 11448 et | sl | eS| RaEH
A I2|REK e 5L i 5 i 5L i 5
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.6 7.4 7.4 7.7
(KR °C) 9) (11) (11) (16)
B 2|D0 mg/1 12 12 12 10
B 3|BOD mg/1 1.4 < 0.5 < 0.5 2.2
B 4|coD mg/1 1.8 1.0 1.0 1.6
B 5/SS mg/1 1 1 <1 1
B 6| KIGHREEK MPN/100m1 79 130 490 460
B T|iREH mg/1 0. 59 0.51 0. 56 0. 49
B 8V mg/1 0. 009 0. 005 0. 005 0.014
e HEC 1A KRITA mg/1 _ — — —
C 2/(B®)vTv mg/1 — — — —
C 4| mg/1 — — — —
C 5/6ffivmxi mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LKkEE mg/1 — — — —
C  9|pcB mg/1 — — — —
C 10|rYV I TF L mg/1 — — — —
C 1|7 h7Z7uvpxFLv mg/1 — — — —
C 12|k iRE mg/1 — — — —
C 13|¥r7muaRrHv mg/1 — — — —
C l4|1:2-Y7unxHy mg/1 — — — —
C 15|1'1-1FNVZmm=xH mg/1 — — — —
C 16|1-1- 2RV Zmm=xH mg/1 — — — —
cC 171'1-YZmouxFlL v mg/1 — — — —
C 18 A-1-2v/unxTFL mg/1 — — — —
C 19(1:3-vZ7murm~X mg/1 — — — —
C 200F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FA BT mg/1 — — — —
C 23| ¥r mg/1 — — — —
C 24| kLv mg/1 — — — —
C 25|50 mg/1 — — — —
C 26115 % mg/1 — — — —
HEAKEH D 1| 7=/ — V8 mg/1 — — — —
D 24 mg/1 — — — —
D 3|Es mg/1 — < 0.004 — —
D 4| VEfEIESR mg/1 — — — —
D 5|¥EfRME~ T mg/1 — — — —
D 6/(®)rrA mg/1 — — — —
D 8 n—~FHrtmE mg/1 — — — —
BEl |E 2 MinyisRezER mg/1 — — — —
E  3fEleREESR mg/1 — — — —
RS S 160010-57 | 160010-64 | 160010-69 | 170010-1




[mams: )UK
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BB (A L EKAE ety ety ety ety
A 2| KfE 5] 5] 5] 75
A 3ERKIEH B4y 14:05 15:06 12:51 13:15
A 6|k m 0. 40 0. 80 0. 60 0.74
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 28.5 32.6 31.4 25.0
A 9PKIR C 22.0 23.5 24.8 21.4
A 11448 ffaEl | meaEl | EeEl | RaEH
A I2|REK e 5L i 5L i 5 pi
A 13| B cm 100 < 100 < 100 < 100 <
AEVEBRET (B 1|pH 7.7 7.6 7.6 7.6
(KR °C) (16) (17) (26) (22)
B 2/DO mg/1 9.5 8.5 8.8 9.1
B 3|BOD mg/1 < 0.5 0.7 0.5 0.8
B 4|COD mg/1 1.7 1.6 1.7 1.6
B 5|SS mg/1 <1 1 1 1
B 6| KIGHREEK MPN/100m1 1, 300 2,400 4,900 1, 400
B T|iREH mg/1 0. 45 0. 48 0.55 0.58
B 8V mg/1 0.012 0.012 0.011 0. 008
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 <0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5/6frmi mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  TlHIKER mg/1 < 0. 0005 — — —
C 8|7 /FNIKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomxzFL o mg/1 < 0.001 — — —
O VR N/ = R = I R P mg/1 < 0.001 — — —
C 12|VuHEfbiRH mg/1 < 0.0002 — — —
C 13|¥rmuariy mg/1 < 0.001 — — —
C l4|1-2-Yr/muoxiy mg/1 < 0.0004 — — —
C 15/1:1-1hYZmupxzH mg/1 < 0.001 — — —
C 16/1:1-2hYZmuxzH mg/1 < 0.0006 — — —
C 17|1-1-Y7manzFL mg/1 < 0.001 — — —
C 18|y A-1-2¥/muxFL mg/1 < 0.001 — — —
C 19|1-3-Yr7mnrr~y mg/1 < 0.0002 — — —
C 200F 7T L mg/1 < 0.0006 — < 0.0006 —
C 21|~ (CAT) mg/1 < 0.0003 — < 0.0003 —
C 2|F A hnT mg/1 < 0.001 — < 0.001 —
C 23|V mg/1 < 0.001 - - -
C 24| kL mg/1 < 0.002 — — —
C 25|50 mg/1 < 0.1 — — —
C 261293 mg/1 < 0.1 — — —
HEAKEH D 1| 7=/ — V8 mg/1 — — — —
D 24 mg/1 — — — —
D 3|HE#H mg/1 < 0.004 — < 0.004 —
D 4| VEfEIESR mg/1 — — — —
D 5\EfRME~ T mg/1 — — — —
D 6/(D)ruAi mg/1 — — — —
D 8 n—~FHUtmE mg/1 — — — —
Eoessil |E 2| WAgERReZE mg/1 0. 002 — — —
E  3fEleREESR mg/1 0.29 — — —
FEFEE S 170010-4 | 170010-13 | 170010-18 | 170010-26




[mams: )UK
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BB (A L EKAE ety ety ety ety
A 2| KfE 5] & 5 75
A 3ERKIEH B4y 11:09 12:25 13:05 12:16
A 6|k m 0. 50 0.62 0. 40 0. 40
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 27.2 10.0 4.2 10.0
A 9PKIR C 21.2 12.0 5.8 5.7
A 11448 ffaEl | meaEl | EeEl | RaEH
A I2|REK e 5L i 5L i 5 pi
A 13| B cm 100 < 100 < 100 < 100 <
AEVEBRET (B 1|pH 7.6 7.5 7.6 7.6
(KR °C) (24) (15) (14) (10)
B 2/DO mg/1 9.8 11 13 13
B 3|BOD mg/1 < 0.5 < 0.5 0.6 0.5
B 4|COD mg/1 1.7 1.2 1.4 1.2
B 5|SS mg/1 <1 <1 <1 1
B 6| KIGHREEK MPN/100m1 7,900 270 490 49
B T|iREH mg/1 0.54 0.43 0.55 0.51
B 8V mg/1 0. 007 0. 005 0. 005 0. 006
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 <0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5/6frmi mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  TlHIKER mg/1 < 0. 0005 — — —
C 8|7/ ILKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomxzFL o mg/1 < 0.001 — — —
O VR N/ = R = I R P mg/1 < 0.001 — — —
C 12|VuHEfbiRH mg/1 < 0.0002 — — —
C 13|¥rmuariy mg/1 < 0.001 — — —
C l4|1-2-Yr/muoxiy mg/1 < 0.0004 — — —
C 15/1:1-1hYZmupxzH mg/1 < 0.001 — — —
C 16/1:1-2hYZmuxzH mg/1 < 0.0006 — — —
C 17|1-1-Y7manzFL mg/1 < 0.001 — — —
C 18|y A-1-2¥/muxFL mg/1 < 0.001 — — —
C 19|1-3-Yr7mnrr~y mg/1 < 0.0002 — — —
C 200F 7T L mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FAHLT mg/1 — — — —
C 23|V mg/1 < 0.001 - - -
C 24| kL mg/1 < 0.002 — — —
C 25|50 mg/1 0.1 — — —
C 26/1F5%# mg/1 < 0.1 — — —
HEAHS (D 1|7 =/ — IV mg/1 — < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|Es mg/1 — < 0.004 — —
D 4\IEFRMESR mg/1 — < 0.03 — -
D 5|EfRME~ T mg/1 — 0. 021 — —
D 6/(®)7nurAi mg/1 — < 0.05 — —
D 8 n—~FHUtmE mg/1 — — — —
BEl |E 2 MinyisRezER mg/1 0. 003 — — —
E  3fEleREESR mg/1 0.21 — — —
FEFEE S 170010-31 | 170010-36 | 170010-41 | 170010-44




[mams: )UK
PAEEH B FRk1sE | FRk1s4E
FHExtg 2H2H 3H8H
BiHOEE A 1| ERKLE ety it
A 2| KfE & 5
A 3|ERAKEEZ B4y 10:10 11:25
A 6| EKIE m 0.58 0.70
A T BRAKOKEE m 0.10 0.10
A 8IEIA T 9.4 13.5
A 9PKIE C 7.0 9.4
A 11448 et | e
A 121BE piL i 5L
A 13|BHEE cm 100 < 100 <
AEIEEREE (B 1|pH 7.6 7.4
UK C) (13) (15)
B 2|D0 mg/1 12 12
B 3|BOD mg/1 < 0.5 0.6
B 4|coD mg/1 1.4 1.2
B 5/SS mg/1 <1 1
B 6| KIGEREE MPN/100m1 330 230
B 7|HERE mg/1 0. 65 0.63
B 8V mg/1 0. 005 0. 004
fidt B [|C A RI T LA mg/1 - —
c 2/®>vTv mg/1 — —
C 4\%n mg/1 — —
C 5/6frmi mg/1 — —
C 6/b# mg/1 — —
C  T|#IKER mg/1 — —
C 8|7/ F/LkER mg/1 — —
C  9|PCB mg/1 — —
C 10|rYV BT L mg/1 — —
C 1|7 h7Z7upxFLv mg/1 — —
C 12|uHEAbiRE mg/1 — —
C 13|¥r7muRrHv mg/1 — —
C l4|1-2-Y7upnxH mg/1 — —
C 15|1-1-1FNVZmm=H mg/1 — —
C 16|1-1- 2RV Zmm=xH mg/1 — —
cC 171'1-YZouxFlL v mg/1 — —
C 18vA-1-2¥/unxTFL mg/1 — —
C 19(1:3-vZ7murm~Xr mg/1 — —
C 200F 7T L mg/1 — —
C 21|~ (CAT) mg/1 — —
C 2|FAHLT mg/1 — —
C 23R Py mg/1 — —
C 24 BL YV mg/1 — —
C 25|53 mg/1 — —
C 26115 # mg/1 — —
HEAKEH D 1| 7=/ — V8 mg/1 — —
D 2|4 mg/1 — —
D 3|Es mg/1 < 0.004 —
D 4| VEfEIESR mg/1 — —
D 5|EfRME~ T mg/1 — —
D 6/(®)rrA mg/1 — —
D 8 n—~FHUtmE mg/1 — —
BEl |E 2 MinyisRezER mg/1 — —
E  3fEleREESR mg/1 — —
FEFEE S 170010-47 | 170010-52




[mams: ®
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BB (A L EKAE ety ety ety ety
A 2| KfE S 5] & iS5
A 3|ERAKEEZ B4y 15:35 10:50 11:57 13:20
A 4PKAT m 0.54 0.63 0.73 0.71
A 6|k m 0.63 1.32 0. 89 0.72
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA C 2.9 6.5 6.8 26.5
A 9PKIR C 5.0 5.7 6.8 19.1
A 11448 et | sl | EaEl | RaEH
A I2|REK e 5L e 5L i 5 i 5L
A 13| B cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.8 7.4 7.6 7.9
(KR °C) 9) (11) (13) (15)
B 2/DO mg/1 12 13 13 10
B 3|BOD mg/1 < 0.5 < 0.5 1.0 1.7
B 4|COD mg/1 1.3 0.9 1.3 1.7
B 5|SS mg/1 <1 <1 <1 1
B 6| KIGHAEEK MPN/100m1 490 230 790 230
B T|iREH mg/1 0.55 0.62 0. 64 0.52
B 8#U mg/1 0. 008 0. 005 0. 007 0.018
FEREE S 160010-57 | 160010-64 | 160010-69 | 170010-1
FRAAEA B SEERLITA | ERRLITHE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BB (A KR ety ety ity ety
A 2| KfE 5] 5] 5] 75
A 3|ERAKEEZ B4y 14:40 14:52 13:13 13:43
A 4PKAT m 0.70 0.72 0. 65 0.70
A 6|k m 0. 60 1.28 0.70 1.01
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8IEIA T 30.3 32.3 31.6 25.0
A 9PKIR C 22.5 25.5 25.5 21.7
A 11408 el | sl | eS| RaEH
A I2|REK e 5L e 5L i 5 i 5
A 13| B cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.7 7.6 7.7 7.8
(KR °C) (15) (17) (26) (23)
B 2/DO mg/1 9.3 8.6 8.8 9.4
B 3|BOD mg/1 1.4 < 0.5 0.6 0.6
B 4|cOD mg/1 1.8 1.6 1.5 1.4
B 5|SS mg/1 <1 1 <1 <1
B 6| KIGHE B MPN/100m1 490 1, 700 4, 600 1, 700
B T|iEH mg/1 0. 47 0. 59 0. 45 0.58
B 8V mg/1 0.016 0.016 0.013 0. 010
FEFEE S 170010-4 | 170010-13 | 170010-18 | 170010-26




[mams: ®
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BB (A L EKAE ety ety ety ety
A 2| KfE 5] & 5 75
A 3|ERAKEEZ B4y 10:51 12:38 12:45 12:45
A 4PKAT m 0.64 0.54 0. 50 0.53
A 6|k m 1.20 0.74 0. 90 1.20
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA C 27.2 10.0 5.9 11.7
A 9PKIE C 20. 4 12.2 5.7 6.2
A 11448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.7 7.5 7.8 7.7
(KR °C) (24) (16) (14) (10)
B 2/DO mg/1 9.6 11 13 13
B 3|BOD mg/1 < 0.5 < 0.5 0.9 < 0.5
B 4|COD mg/1 1.5 1.0 1.0 1.0
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 5, 400 490 330 130
B T|iREH mg/1 0. 49 0.52 0.63 0.58
B 8#U mg/1 0. 007 0. 006 0. 005 0. 006
FEGEE S 170010-31 | 170010-36 | 170010-41 | 170010-44
PEEH B FRk1sE | FRki1s4E
H %t 2H2H 3H8H
BB (A KR ety ety
A 2| R & iS5
A 3| ERKIEH 4y 10:35 11:10
A 4APKAT m 0.56 0.62
A 6K m 1.04 0.82
A T BRAOKEE m 0.10 0.10
A 8IEIA T 9.4 13.0
A 9PKIE C 7.4 9.8
A 11408 et | s
A 12185 piLa i 5.
A 13| B cm 100 < 100 <
AEVEREREE (B 1|pH 7.7 7.5
(KR °C) (13) (14)
B 2/DO mg/1 12 12
B 3|BOD mg/1 0.7 0.7
B 4|cOD mg/1 1.1 1.0
B 5|SS mg/1 <1 1
B 6| KIGHE L MPN/100m1 170 460
B T|iREH mg/1 0. 66 0.63
B 8 mg/1 0. 006 0. 005
FEFEE S 170010-47 | 170010-52




sy @R
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BiIHOEE [A 1| ERKLE Pty ity ity ity
A 2| RKfE 5 5] & 5
A 3BKEFH B4y 16:00 10:35 12:07 14:00
A AlKpr m 1.16 1.29 1.17 1.15
A 6|k m 0.74 1.54 0.93 0.29
A TR m 0.10 0.10 0.10 0.10
A 8IFIA C 4.5 6.8 7.0 28.0
A 9PKIE C 6.5 5.6 6.8 20. 0
A 11448 It | sl | EeE | RadEH
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.6 7.4 7.4 8.3
(K¥E.:°C) 9) (13) (10) (16)
B 2[D0 mg/1 12 13 13 10
B 3[BOD mg/1 1.0 < 0.5 < 0.5 0.6
B 4|coDp mg/1 0.9 0.9 1.2 1.9
B 5/SS mg/1 2 <1 <1 1
B 6| KIGHAEEK MPN/100m1 230 330 1,100 460
B 7T|#R#EH mg/1 0.58 0. 56 0.63 0.55
B 8V mg/1 0.013 0. 006 0. 008 0. 029
e HEC 1A KRITA mg/1 — - — —
C 2/(B®)vT v mg/1 — — — —
C 4| mg/1 — — — —
C 5/6ffirvmxi mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LkER mg/1 — — — —
C 9|pcB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 hT7Z7uvpuxFL v mg/1 — — — —
C 12|\t iRE mg/1 — — — —
C 13|¥7muaRrAHv mg/1 — — — —
C l4|1-2-Y7unxHy mg/1 — — — —
C 15|1-1-1FNVZmm=xH mg/1 — — — —
C 16|1-1- 2RV Zmm=xH mg/1 — — — —
cC 171'1-YZmouxFlL v mg/1 — — — —
C 18vA-1-2¥/unxTFL mg/1 — — — —
C 19(1:3-vZ7murm~X mg/1 — — — —
C 200F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FA T mg/1 — — — —
C 23Ry Pr mg/1 — — — —
C 24|kLv mg/1 — — — —
C 25|50 mg/1 — — — —
C 261135 % mg/1 — — — —
HEAREH D 1|7 =/ — V8 mg/1 — — — —
D 24 mg/1 — — — —
D 3|Es mg/1 — < 0.004 — —
D 4| VEfRIESR mg/1 — — — —
D 5\IEfRME~ T mg/1 — — — —
D 6/(R)7uA mg/1 — — — —
D 8 n—~%HVUtHmE mg/1 — — — —
it |[E 1|7 UoE=THEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
AL R E mg/1 — — — —
E  3hHlsREESR mg/1 — — — —
HERBRE |F 5| BEMEREGHA 1i#/100m1 90 62 160 200
F 231 4 mg/1 14 10 10 12
KIERSE |H  8|2-MIB ng/1 — — — —
H 9/YA=AxIv ng/1 — — — —
H 18 kU o X & ke mg/1 — 0.016 — —
FEREE S 160010-57 | 160010-64 | 160010-69 | 170010-1




sy @R
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BB (A KR Pty ity Pty Pty
A 2| RKfE 5 i) i 5
A 3BKEFH B4y 15:30 14:45 13:24 13:56
A 4PKAT m 1.30 1.30 1.19 1.18
A 6|k m 1.30 1.15 1.04 0. 80
A TR m 0.10 0.10 0.10 0.10
A 8IFIA C 31.6 29.6 32.5 25.0
A 9KIR C 23.5 25.0 25.0 21.3
A 11448 It | sl | EeE | ReadEH
A I2|RK 5L 5 i 5 i 5
A 13| B cm 100 < 100 < 100 < 100 <
AVERET B 1|pH 8.4 7.6 8.0 7.6
(K¥E.:°C) (16) 17 (26) (22)
B 2/DO mg/1 9.7 9.1 9.3 9.7
B 3|BOD mg/1 < 0.5 1.5 < 0.5 0.9
B 4|COD mg/1 1.9 1.5 1.5 1.9
B 5|SS mg/1 1 <1 <1 1
B 6| KIGHAEEK MPN/100m1 330 13, 000 3, 300 3, 300
B 7T|#R#EH mg/1 0.52 0.53 0.48 0.63
B 8V mg/1 0. 026 0. 024 0. 020 0.014
B FEC I RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ LKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZmmzFL o mg/1 < 0.001 — — —
C 1|7+ 7apzFL v mg/1 < 0.001 — — —
C 12|VUHEfbiR=H mg/1 < 0.0002 — — —
C 13|¥rmuarHy mg/1 < 0.001 — — —
C 14|1:2-Y7uoux i mg/1 < 0.0004 — — —
C 15]1:1-1kVZmuxH mg/1 < 0.001 — — —
C 16]1:1-2hYZmuxzH mg/1 < 0.0006 — — —
C 17|1-1-YZ7unzF L mg/1 < 0.001 — — —
C 18|y A-1-2V/muxFL mg/1 < 0.001 — — —
C 19|1-3-Yr7umnrn~r mg/1 < 0.0002 — — —
C 200F 774 mg/1 < 0.0006 — < 0.0006 —
C 21|~ (CAT) mg/1 < 0.0003 — < 0.0003 —
C 22| F A hnT mg/1 < 0.001 — < 0.001 —
C 23| ¥ mg/1 < 0.001 — — —
C 24| kL mg/1 < 0.002 — — —
C 25|50 mg/1 0.2 — — —
C 26/1F5%# mg/1 < 0.1 — — —
HEAHEMI D 1| 7=/ —VE mg/1 — — — —
D 2|8 mg/1 — — _ _
D 3|HE#H mg/1 < 0.004 — < 0.004 —
D 4| VEMRIESR mg/1 — — — —
D 5\IEfRME~ T mg/1 — — — —
D 6/(R)7uA mg/1 — — — —
D 8 n—~%HVUHmE mg/1 — — — —
it |[E 1|7 UoE=THEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
AL R E mg/1 0. 002 — — -
E  3hHlsREESR mg/1 0.32 — — —
HERBRIE |F 5| BEMERGHE 1i#/100m1 160 780 160 500
F 2381 4 mg/1 11 12 11 13
AGERHE |H  8|2-MIB ng/1 — — <5 —
H 9vFzx3Iv ng/1 — — <5 —
H 18 h U e A& A RkEE mg/1 0. 020 — 0. 059 —
FEREE S 170010-4 | 170010-13 | 170010-18 | 170010-26




sy @R
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
g 107 12H 11A17H 127 19H 1A 120
BB (A KR Pty ity Pty Pty
A 2| RKfE 5 & 5 5
A 3BKEFH B4y 10:33 13:00 12:25 12:55
A AlKpr m 1.12 1.08 1.08 1. 11
A 6|k m 0.82 0.98 0. 90 1.30
A TR m 0.10 0.10 0.10 0.10
A 8IFIA C 26.5 10.0 7.8 12.0
A 9PKIE C 20.9 12.2 5.9 5.6
A 11448 It | sl | EeE | ReadEH
A I2|RK 5L i 5 i 5 i 5
A 13|BHEE cm 100 < 100 < 100 < 100 <
AVERET B 1|pH 7.5 7.4 7.3 7.6
(K¥E.:°C) (24) (15) (14) (9)
B 2[D0 mg/1 9.7 11 13 13
B 3[BOD mg/1 < 0.5 < 0.5 < 0.5 < 0.5
B 4|coDp mg/1 1.5 1.3 1.1 0.9
B 5/SS mg/1 <1 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 7,900 7,900 1, 300 240
B 7T|#R#EH mg/1 0. 56 0.68 0.67 0. 65
B 8V mg/1 0.012 0.013 0. 009 0. 009
# FE|C 1B RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 4| mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ LKER mg/1 < 0.0005 — — —
C 9|pcB mg/1 < 0.0005 — — —
C 10/RYZma=FL > mg/1 < 0.001 — — —
C 1|7+ 7apzFL v mg/1 < 0.001 — — —
C 12|VUHEfbiR=H mg/1 < 0.0002 — — —
C 13|¥Yr7ummAry mg/1 < 0.001 — — —
C 14|1:2-Y7uoux i mg/1 < 0.0004 — — —
C 15]1:1-1kVZmuxH mg/1 < 0.001 — — —
C 16]1:1-2hYZmuxzH mg/1 < 0.0006 — — —
C 17]1-1-¥ZpuxFL v mg/1 < 0.001 — — —
C 18|y A-1-2V/muxFL mg/1 < 0.001 — — —
C 19]1:3-YZmuruy mg/1 < 0.0002 — — —
C 200F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FAXHNT mg/1 — — — —
C 23| ¥ mg/1 < 0.001 — — —
C 24| kL mg/1 < 0.002 — — —
C 25|50 mg/1 0.1 — — —
C 26/1F5%# mg/1 < 0.1 — — —
PR (D 1|7 = — VB mg/1 — < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|EsN mg/1 — < 0.004 — —
D 4\IEFRIESR mg/1 — < 0.03 — -
D 5~ T mg/1 — 0. 093 — —
D 6/(®)7nmAi mg/1 — < 0.05 — —
D 8 n—~%HVUHmE mg/1 — — — —
it |[E 1|7 UoE=THEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
AL R E mg/1 0. 002 — — -
E  3hHlsREESR mg/1 0. 20 — — —
HERBRIE |F 5| BEMERGHE fi#/100m1 300 330 33 500
F 2381 4 mg/1 14 16 14 14
KIERSE |H  8|2-MIB ng/1 — — — —
H 9/YA=AxIv ng/1 — — — —
H 18 h U e A& A RkEE mg/1 — 0. 022 — —
FEREE S 170010-31 | 170010-36 | 170010-41 | 170010-44




sy @R
PAEEH B FRk1sE | FRk1s4E
FHExtg 2H2H 3H8H
BiIHOEE [A 1| ERKLE Pty it
A 2| RME & 5
A 3| ERKIFH 4y 10:45 10:50
A AlKpr m 1.15 1.28
A 6K m 1.10 1.18
A TR m 0.10 0.10
A 8IFIA C 9.5 13.0
A 9PKIE C 7.8 9.8
A 11448 et | e
A 12|RK i 5 i 5
A 13|BHEE cm 100 < 100 <
AEIEEREE (B 1|pH 7.5 7.4
(K¥E.:°C) (13) (14)
B 2[D0 mg/1 12 12
B 3[BOD mg/1 1.3 0.9
B 4|coDp mg/1 1.5 1.2
B 5/SS mg/1 1 1
B 6| KGR MPN/100m1 490 790
B 7|HEHE mg/1 0.74 0.76
B 8V mg/1 0. 009 0.012
fidt B (|C 1| RIT A mg/1 - -
c 2/®>YTv mg/1 — —
C 48 mg/1 — —
C 5/6frai mg/1 — —
C 6/b# mg/1 — —
C  TIfIKER mg/1 — —
C 8|7/ F/LkER mg/1 — —
C 9|pcB mg/1 — —
C 10|rYV BT L mg/1 — —
C 1|7 hZ7Z7upxFLv mg/1 — —
C 12|\t iRE mg/1 — —
C 13|¥r7muRrAHv mg/1 — —
C l4|1:2-Y7upnxHy mg/1 — —
C 15|1-1-1FNVZmm=xH mg/1 — —
C 16|1-1- 2RV Zmm=xH mg/1 — —
cC 171'1-YZmouxFlL v mg/1 — —
C 18vA-1-2¥/unxFL mg/1 — —
C 19(1:3-vZ7murm~Xr mg/1 — —
C 200F 774 mg/1 — —
C 21|~ (CAT) mg/1 — —
C 2|FAXHNT mg/1 — —
C 23R Pyr mg/1 — —
C 24V mg/1 — —
C 25|53 mg/1 — —
C 261135 % mg/1 — —
HEAREH D 1|7 =/ — V8 mg/1 — —
D 2|4 mg/1 — —
D 3|EsN mg/1 < 0. 004 —
D 4\IEFRIESR mg/1 — —
D 5\IEfRME~ T mg/1 — —
D 6/(R)7uA mg/1 — —
D 8 n—~FVaHWE mg/1 — —
it |[E 1|7 UoE=THEESR mg/1 < 0.05 0. 10
AL R E mg/1 — —
E  3hHlsREESR mg/1 — —
HIBREREE |F 5| FEEMERIGEE 1i#/100m1 74 140
F 2381 4 mg/1 14 13
KIERSE |H  8|2-MIB ng/1 — —
H 9|¥A=x3Iv ng/1 — —
H 18 Y o A ¥ L ARkE mg/1 0. 020 —
FEREE S 170010-47 | 170010-52




R R GERE)
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A11H 1A 120 1A 120 1A 120
BiHOEE A 1| ERKLE it it ity it
A 2\ K& = = = i
A 3EKIFH B4y 17:00 0:16 6:05 16:00
A AlKAT m 1.18 1.18 1.16 1.16
A 114481 sl | sl | EAED | RaEH
A 13)BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 2H14H 2H14H 2H15H 2H15H
BIHOEE A 1| ERKLE it it it it
A 2| K 55 = = 5§
A 3BKIEH B4y 10:35 18:13 0:29 6:40
A AlKAT m 1. 29 1. 20 1.18 1.18
A 11448 sl | mEesEl | EAE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | CERRLITE | SERRLTE | SERRLTE
HEXS 3H1H 3H2H 3H2H 3H2H
BIHOEE A 1| ERKNLE it et it it
A 2| K I 75 = =
A 3BKIEH 4y 16:44 0:15 6:24 12:07
A AlKAE m 1.18 1.18 1.18 1.17
A 11448 el | mesEl | EEEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | CERRLITHE | SERRLTE | SERRLTE
FHExtg 5H25H 5H25H 5H26H 5H26H
BIHOEE A 1| ERKNLE ity et et ity
A 2| K 75 75 75 75
A 3|ERAKEEZ B4y 17:13 23:46 6:51 14:00
A AlKAE m 1.16 1.16 1.16 1.15
A 114081 mEEy | Basy | BedEY | Fasd
A 13|BEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRITE | SERRLTE | SERRLTE
HEXS 6H8H 6H9H 6H9H 6H9H
BIHOEE A 1 |ERKLE ity it it ity
A 2K 75 75 75 75
A 3|ERAKEEZ B4y 17:50 0:23 6:35 15:30
A AlKAE m 1.16 1.16 1.16 1. 30
A 114481 mEEy | BaEy | BedEY | &asd
A 13|BLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | SERRITHE | SERRLTE | SERRLTE
FHEXtg 7TH20H 7TH21H 7TH21H 7TH21H
BIHOEE A 1| ERKLE ity ity et ety
A 2| K 75 75 75 75
A 3|ERAKEEZ B4y 18:00 0:15 6:45 14:35
A AlKAE m 1.32 1. 30 1. 30 1. 30
A 114481 fsEl] | sl | eS| RaEH
A 13|BEE cm 100 < 100 < 100 < 100 <




R R GERE)
FRAEA H| SEERLITAE | ERRLITHE | SERRLTE | SERRLTE
HES 8H2H 8H2H 8H3H 8H3H
BIHOEE A 1| ERKLE ety it it it
A 2| KfE = 75 5 5
A 3|ERAKEEZ B4y 17:36 23:25 6:47 13:24
A AlKAT m 1. 20 1.19 1. 20 1.19
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtG 9H25H 9H26H 9H 26 H 9H26H
BIHOEE A 1| ERK(LE ety it it ity
A 2| KfE 5 5 75 75
A 3| ERKIEH B4y 17:08 0:21 6:40 13:56
A AlKAE m 1.18 1.18 1.18 1.18
A 114481 fEl | meaEl | EAE | EaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SERRLTA | ERRLITHE | SERRLTE | SERRLTE
FHExtg 107 11H 107 12H 107 12H 107 12H
BiHOEE |A 1| ERKLE ety ity ity it
A 2| KfE 5 75 75 75
A 3| ERKIFH B4y 18:16 0:33 6:52 10:33
A AlKAE m 1.12 1.12 1.12 1.12
A 11408 fsEl] | mesEl | eS| RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SERRLITA | ERRLITHE | SERRLTEE | SERRLTE
FHExtg 11716H 11A17H 11A17H 11A17H
BiHOEE A 1| ERKLE ity it ity it
A 2| KfE = = = =
A 3| BRI B4y 17:55 0:42 6:39 13:00
A AKAT m 1.08 1.08 1.08 1.08
A 114081 el | sl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRLITHE | SERRLTE | SERRLTEE
FHExtg 127 19H 127 19H 12H20H 12H20H
BIHOEE A 1| ERKLE ety ity it ity
A 2| KfE 75 5 75 75
A 3|ERAKEEZ B4y 12:25 17:35 0:30 6:24
A AKAE m 1.08 1.08 1.08 1.08
A 114081 fsEl] | sl | eS| RaEH
A 13|BLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEEKI8HE | ERKISHE | SEAKISHE | SEAK1ISEE
FHEXG 1A11H 1A 120 1A 120 1A 120
BiHOEE A 1| ERKLE ity ety ity ety
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 17:56 0:40 6:23 12:55
A AlKAE m 1.12 1.12 1.12 1. 11
A 114481 fsEl] | el | eS| RaEH
A 13|BEE cm 100 < 100 < 100 < 100 <




s @R GBI
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
HES 2H1A 2H2H 2H2H 2H2H
BIHOEE A 1| ERKLE ety it it it
A 2| KfE = = 5 =
A 3|ERAKEEZ B4y 17:38 0:19 6:03 10:45
A AlKAT m 1. 14 1.16 1.16 1.15
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm 100 < 100 < 100 < 100 <
FHAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISE
HEXS 3HTH 3H8H 3H8H 3H8H
BIHOEE A 1| ERK(LE ety it it ity
A 2| KfE 5 5 75 75
A 3BKIEH B4y 17:05 0:40 6:38 10:50
A AlKAE m 1.28 1.28 1.28 1.28
A 114481 fEl | meaEl | EAE | EaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <




lgaams: R
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BB (A L EKAE ety ety ety ety
A 2| KfE £ 5] & iS5
A 3|ERAKEEZ B4y 15:43 10:18 12:25 13:40
A AlKAT m 0.29 0.39 0. 30 0.33
A 6|k m 1.04 1.65 1.54 0. 30
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 2.8 6.8 7.2 26.8
A 9PKIE C 6.6 5.8 7.5 18.9
A 11448 et | sl | EaEl | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.9 7.4 7.5 7.9
(KR °C) 9) (12) (13) (18)
B 2|D0 mg/1 12 13 12 9.9
B 3|BOD mg/1 0.7 < 0.5 0.5 1.4
B 4|coD mg/1 1.4 1.0 1.1 1.9
B 5/SS mg/1 <1 <1 <1 1
B 6| KIGHAEEK MPN/100m1 490 330 790 1,100
B T|iREH mg/1 0. 59 0. 59 0. 60 0. 60
B 8#U mg/1 0.012 0. 006 0. 009 0. 035
e FlC 1|ZFIUA mg/1 — — — —
cC 2/(®)vTv mg/1 — — — —
C 4| mg/1 — — — —
C 5/6ffivmxi mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LKEE mg/1 — — — —
C  9|PCB mg/1 — — — —
C 10|rV 7o TF LV mg/1 — — — —
C 1|7 hZ7Z7uvpxFlLv mg/1 — — — —
C 12|\HEfbiRE mg/1 — — — —
C 13|¥7up Xy mg/1 — — — —
C l4|1-2-Y7unxHy mg/1 — — — —
C 15|1'1-1FNVZmm=x X mg/1 — — — —
C 16|1-1- 2RV Zmm=xH mg/1 — — — —
cC 171'1-YZmouxFL v mg/1 — — — —
C 18vA-1-2¥/munxFL mg/1 — — — —
C 19(1:3-vZ7murmo~Xr mg/1 — — — —
C 200F 7724 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FAHLT mg/1 — — — —
C 23| ¥ mg/1 — — — —
C 24| kL mg/1 — — — —
C 25|%-o3%# mg/1 — — — —
C 261253 mg/1 — — — —
HEAREH D 1| 7=/ —VHE mg/1 — — — —
D 24 mg/1 — — — —
D 3|Es mg/1 — < 0.004 — —
D 4| VEfEIESR mg/1 — — — —
D 5|EfRME~ T mg/1 — — — —
D 6/(D)7uA mg/1 — — — —
BEl |E 2 MinyisRezER mg/1 — — — —
E  3fEleREESR mg/1 — — — —
RS S 160010-57 | 160010-64 | 160010-69 | 170010-1




lgaams: R
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BB (A L EKAE ety ety ety ety
A 2| KfE 5] 5] 5] 5]
A 3|ERAKEEZ B4y 14:50 14:45 13:44 14:17
A 4PKAT m 0.32 0.44 0.33 0.34
A 6|k m 0. 60 2. 00 2. 00 1.80
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 29.9 31.5 32.0 25. 4
A 9PKIR C 22.8 25.0 27.1 22.4
A 11448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.8 7.9 8.2 7.7
(KR °C) (17) (16) 27 (23)
B 2/DO mg/1 9.3 9.1 9.4 9.5
B 3|BOD mg/1 1.6 < 0.5 < 0.5 1.1
B 4|COD mg/1 2.0 1.5 1.7 1.7
B 5|SS mg/1 2 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 1, 300 7,900 1,100 13, 000
B T|iREH mg/1 0.53 0.53 0. 47 0.52
B 8#U mg/1 0. 031 0. 022 0.017 0.010
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 < 0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/e# mg/1 0. 002 - — —
C  THIKER mg/1 < 0. 0005 — — —
C 8|7 /FNIKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomzFL o mg/1 < 0.001 — — —
R VA N/ = B = I M mg/1 < 0.001 — — —
C 12|VuiEfbiR=H mg/1 < 0.0002 — — —
C 13|¥rmuriy mg/1 < 0.001 — — —
C l4|1-2-Yr/muxXy mg/1 < 0.0004 — — —
C 15/1:1-1hYZmuxzH mg/1 < 0.001 — — —
C 16/1:1-2hYZmupxzH mg/1 < 0.0006 — — —
C 17|1-1-YZ7mapnzFL mg/1 < 0.001 — — —
C 18| A-1-2¥V/muxFL mg/1 < 0.001 — — —
C 19|1-3-Yr7mnrr~y mg/1 < 0.0002 — — —
C 200F 774 mg/1 < 0.0006 — < 0.0006 —
C 21|~ (CAT) mg/1 < 0.0003 — < 0.0003 —
C 2| F A hnT mg/1 < 0.001 — < 0.001 —
C 23| ¥ mg/1 < 0.001 - - -
C 24|kLv mg/1 < 0.002 — — —
C 25|50 mg/1 0.3 — — —
C 261293 mg/1 < 0.1 — — —
HEAREH D 1| 7=/ —VHE mg/1 — — — —
D 24 mg/1 — — — —
D 3|HE#H mg/1 < 0.004 — < 0.004 —
D 4| VEfEIESR mg/1 — — — —
D 5|¥EfRME~ T mg/1 — — — —
D 6/(D)ruA mg/1 — — — —
Eoessil |E 2| WAgERReZE mg/1 0. 002 — — —
E  3|HMEREZRE R mg/1 0.35 — — —
FEFEE S 170010-4 | 170010-13 | 170010-18 | 170010-26




lgaams: R
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
FHExtg 1012 11717H 12J119H 1A 120
BB (A L EKAE ety ety ety ety
A 2| KfE 5] & 5 75
A 3|ERAKEEZ B4y 10:00 13:42 11:50 13:20
A 4PKAT m 0.30 0.25 0.20 0.24
A 6|k m 1.41 1.51 1.25 1.70
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 26. 4 10.0 6.8 12.9
A 9PKIR C 21.5 12.0 6.4 6.5
A 11448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm 100 < 100 < 100 < 100 <
AEVERET B 1|pH 7.6 7.5 7.5 7.8
(KR °C) (25) (16) (14) (10)
B 2/DO mg/1 9.6 11 13 13
B 3|BOD mg/1 1.6 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 2.1 1.3 1.4 1.2
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 13, 000 930 230 23
B T|iREH mg/1 0. 64 0.57 0.62 0.55
B 8#U mg/1 0.012 0.010 0. 006 0. 008
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 < 0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/e# mg/1 0. 002 — — —
C  THIKER mg/1 < 0. 0005 — — —
C 8|7/ LKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomzFL o mg/1 < 0.001 — — —
R VA N/ = B = I M mg/1 < 0.001 — — —
C 12|VuiEfbiR=H mg/1 < 0.0002 — — —
C 13|¥rmuriy mg/1 < 0.001 — — —
C l4|1-2-Yr/muxXy mg/1 < 0.0004 — — —
C 15/1:1-1hYZmuxzH mg/1 < 0.001 — — —
C 16/1:1-2hYZmupxzH mg/1 < 0.0006 — — —
C 17|1-1-YZ7mapnzFL mg/1 < 0.001 — — —
C 18| A-1-2¥V/muxFL mg/1 < 0.001 — — —
C 19|1-3-Yr7mnrr~y mg/1 < 0.0002 — — —
C 200F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FA BT mg/1 — — — —
C 23| ¥ mg/1 < 0.001 - - -
C 24|kLv mg/1 < 0.002 — — —
C 25|50 mg/1 0.1 — — —
C 26/1F5%# mg/1 < 0.1 — — —
PRSI (D 1|7 =/ — IV mg/1 — < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|EsN mg/1 — < 0.004 — —
D 4\IEFRMESR mg/1 — < 0.03 — -
D 5|\IEfRME~ B mg/1 — 0.014 — —
D 6/(®)7nrAi mg/1 — < 0.05 — —
Eoessil |E 2| WAgERReZE mg/1 0. 002 — — —
E  3fEleREESR mg/1 0.17 — — —
FEFEE S 170010-31 | 170010-36 | 170010-41 | 170010-44




lgaams: R
PAEEH B FRk1sE | FRk1s4E
FHExtg 2H2H 3H8H
BB (A L EKAE ety ety
A 2| KfE & 5
A 3| ERKIFH B4y 11:07 10:30
A AlKAT m 0.26 0.38
A 6| EKIE m 2. 30 1.62
A T BRAOKEE m 0.10 0.10
A 8|XUR C 9.5 12.9
A 9PKIE C 9.3 10.8
A 111448 fefasmi] | B
A 121BE piLa i 5
A 13|BHEE cm 100 < 100 <
AEIEEREE (B 1|pH 7.8 7.5
(KR °C) (14) (15)
B 2|D0 mg/1 12 11
B 3|BOD mg/1 < 0.5 < 0.5
B 4|coD mg/1 1.4 1.4
B 5/SS mg/1 <1 2
B 6| KIGHAEEK MPN/100m1 1, 100 330
B 7|HEHE mg/1 0. 66 0. 66
B 8#U mg/1 0. 008 0.011
e FlC 1|ZFIUA mg/1 — —
c 2/®>vTv mg/1 — —
C 4\%n mg/1 — —
C 5/6frai mg/1 — —
C 6/b# mg/1 — —
C  T|#IKER mg/1 — —
C 8|7/ F/LKkER mg/1 — —
C  9|PcB mg/1 — —
C 10|rYV BT L mg/1 — —
C 1|7 r7Z7upxFLv mg/1 — —
C 12|t iRE mg/1 — —
C 13|¥7up Xy mg/1 — —
C l4|1-2-Y7upnxHy mg/1 — —
C 15|1-1-1 NV Zmm=xH mg/1 — —
C 16|1-1-2FhVZmm=xH mg/1 — —
cC 171'1-YZmouxFL v mg/1 — —
C 18vA-1-2¥/unxTFL mg/1 — —
C 19(1:3-vZ7murmo~X mg/1 — —
C 200F 774 mg/1 — —
C 21|~ (CAT) mg/1 — —
C 2|FA BT mg/1 — —
C 23| ¥ mg/1 — —
C 24 BL YV mg/1 — —
C 25|53 mg/1 — —
C 26115 % mg/1 — —
HEAREH D 1| 7=/ —VHE mg/1 — —
D 2|4 mg/1 — —
D 3|EsN mg/1 < 0.004 —
D 4| VEfEIESR mg/1 — —
D 5|¥EfRME~ T mg/1 — —
D 6/(D)ruA mg/1 — —
BEl |E 2 MinyisRezER mg/1 — —
E  3fEleREESR mg/1 — —
FEFEE S 170010-47 | 170010-52




T
RAEFA B SR TAE
LALLA LALLA 1H12A 1H12A
HRSOE (18:00) (0:00) (6:00)
BHBLR (A ERKAIE T EfE e KR
A 2/ KM Z B = =
A 3| ERKIEH AN 17:28 23:53 5:40 16:12
A 4|KAT m 0. 04 0. 06 0. 06 0. 05
A 6| KEE m 0. 54 0. 56 0. 56 0.55
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8/&IA C 7.0 5.0 3.5 5.5
A 9PKIR C 8.0 7.5 7.0 7.0
A 11448 Bl | EESEN | BEeFEY | EKEEY
A 12|BK 5L 5L e 5L 5L
A 13|ERE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.4 7.5 7.6 7.7
OKIR:C) (14) (14) (14) (10)
B 2|D0O mg/1 13 13 13 13
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 — — — 1.5
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGERE MPN/100m1 330 170 170 130
B TiREH mg/1 — — — 0.54
B 8y mg/1 — — — 0.012
e FE[C 1B KRITA mg/1 - - — -
C 2|®vT7v mg/1 — — — —
C 4%n mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
C 6|lt# mg/1 — — — —
C  TlkakeE mg/1 — — — —
C 8|7/ F /KR mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV T L mg/1 — — — —
C 1|7 ro7ZupupxFLv mg/1 — — — —
C 12|EfbiRR mg/1 — — — —
C 13|¥7muRrB mg/1 — — — —
C l4|1:2-Y/ouxH mg/1 — — — —
C 15|1-1-1MVZump=H mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2¥V/mu=xFL mg/1 — — — —
C 19/1:3-YZ7unrra~y mg/1 — — — —
C 20/F7 5 A mg/1 — — _ —
C 21|v=T 2 (CAT) mg/1 — — — —
C 22| FAANT mg/1 — — — —
c 23| ¥r mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%H mg/1 — — — —
C 261395 mg/1 — — — —
BEAKHH] (D 1|7/ — 1V mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEMRERR mg/1 — — — —
D S5~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 UoE=THEES mg/1 — — — < 0.05
E  2|WmHBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0. 45
E 4| G#EZEFE (ON) mg/1 — — — < 0.1
E 9|4/ HYUERREY mg/1 — — — 0. 004
HUERBRES |F 2)VBF B — — — 1.3
F 3PEER ms/m - - - 5.3
F 5| BEMEHERIGA {#/100m1 — — — 40
F_ 23 e A A mg/1 — — — 13
R G167 v/Ll= L7 = (CNP. mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|# F U~ A ¥ ARG mg/1 — — — —
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AT FRLLTAE
1A11H 1A11H 1120 THiZE
FRVSE S (18:00) (0:00) e
E— 160010-57




T
RAEFA B R TAE
2H14H 2H15H 2H15H 2H14H
RS OE (18:00) (0:00) (6:00)
BB (A 1[EKRATE e e e KR
A 2| RE E E 55] i
A 3 |ERIKIEH 4y 17:13 0:05 6:17 9:55
A 4|KAT m 0.16 0. 08 0. 06 0.22
A 6| KEE m 0. 66 0.58 0. 56 0.72
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 9.0 6.0 6.5 6.7
A 9PKIR C 7.5 7.4 7.2 6.4
A 11448 meaEl | RESEN | BEeFEY | EKEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.6 7.6 7.4 7.4
OKIR:C) (11) (11) (1D (12)
B 2|D0 mg/1 12 14 13 13
B 3|BOD mg/1 1.2 0.9 0.8 < 0.5
B 4|COD mg/1 — — — 1.0
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGERE MPN/100m1 330 220 790 790
B T#R#ESR mg/1 — — — 0.59
B 8y mg/1 — — — 0. 008
e FE[C 1B KRITA mg/1 - - = -
C 2|(®>vT7v mg/1 — — — —
C  4%n mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|E mg/1 — — — < 0.004
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HERREER mg/1 — — — 0.51
E 4 fpREEEFE (ON) mg/1 — — — 0.1
E 9|4/ HUERREY mg/1 — — — < 0.003
HOERBRES |F 2)VBE E — — — 0.7
F 3PEER ms/m - - - 7.2
F 5| BEMEHERIGA {#/100m1 — — — 72
F_ 23 kA A mg/1 — — — 12
R G167 L= L7 = (CNP. mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18 h U na A& A RREE mg/1 — — — 0.019
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AT FRRLTAE
2A14R 2A15H 2A15H TRVIE
FRVSE S (18:00) (0:00) o
E— 160010-64




T
RAEFA B R TAE
3A1H 3HL1H 3H2H 3H2H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE EfE T e KR
A 2R i i Z Z
A 3 |ERIKIEH AN 17:06 23:53 6:03 12:53
A 4|KAT m 0. 08 0.08 0.08 0.07
A 6| KEE m 0.58 0.58 0.58 0.57
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 9.8 0.0 -0.2 7.0
A 9PKIR C 9.0 8.0 6.8 8.0
A 111508 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.5 7.5 7.5 7.5
OKIR:C) (10) (9) (® (11)
B 2|D0 mg/1 12 12 12 13
B 3|BOD mg/1 < 0.5 1.0 0.8 1.1
B 4|COD mg/1 — — — 1.4
B 5|SS mg/1 2 2 2 <1
B 6| KIGERE MPN/100m1 2, 400 490 490 170
B T#R#ESR mg/1 — — — 0.70
B 8y mg/1 — — — 0. 008
e FE[C 1B KRITA mg/1 - - — -
C 2|(®>vT7v mg/1 — — — —
C  4%n mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20|F ¥ 3F A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0.55
E 4 fpREEEFE (ON) mg/1 — — — 0.2
E 9|4/ HUERREY mg/1 — — — 0. 007
HOERBRES |F 2)VBE E — — — 0.8
F  3|EER ms/m — 0.0 — 7.1
F 5|3 %ERGE {i#/100m1 — — — 17
F 23|14 mg/1 — — — 12
BEE |G 16|27 ml= hL 7 = 2 (CNP. mg/1 — — — —
AERSE [H  8]2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —
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AT FRLLTAE
3A1H 3A1H 3A2H YiBIE
FRVSE S (18:00) (0:00) e
E— 160010-69




T
RAEFA B R TAE
5H25H 5H25H 5H26H 5H26H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE e e e KR
A2 KR i g G i
A 3 |ERIKIEH AN 17:40 23:19 6:25 14:30
A 4|KAT m 0.02 0.02 0.02 0.01
A 6| KEE m 0.52 0.52 0.52 0.51
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 21.0 14.7 12.2 30. 0
A 9PKIR C 22.0 19.9 17.9 22.3
A 11448 meaEl | RESEN | BEeFEY | EKEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 8.0 7.6 7.4 8.3
OKIR:C) (23) (23) (23) (17)
B 2|D0 mg/1 12 9.5 10 10
B 3|BOD mg/1 < 0.5 0.5 0.5 1.9
B 4|COD mg/1 — — — 2.0
B 5|SS mg/1 2 2 2 2
B 6| KIGERE MPN/100m1 23 270 330 230
B 7#ESE mg/1 — — — 0.58
B 8y mg/1 — — — 0. 027
e FE[C 1B KRITA mg/1 - - = -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0.37
E 4/ G#EZEFE (ON) mg/1 — — — 0. 20
E 9|4/ HUERREY mg/1 — — — 0.012
HOERBRES |F 2)VBE E — — — 2.0
F 3PEER ms/m - - - 6.0
F 5| BEMEHERIGA {#/100m1 — — — 42
F_ 23 kA A mg/1 — — — 10
R G167 L= L7 = (CNP. mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —
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HEEIT TR THE
57250 57250 5H 26 A 26T
FEXS (18:00) (0:00) 6:00)
B 170010-1




T
RAEFA B R TAE
6H8H 6H9H 6H9H 6H9H
RS OE (18:00) (0:00) (6:00)
BB (A 1[EKRATE EfE T e e
A 2| RE ki ki B i
A 3 |ERIKIEH AN 17:25 23:58 6:10 15:45
NRERA m -0. 06 -0. 06 -0. 06 -0. 07
A 6| KEE m 0. 40 0. 40 0. 40 0. 30
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 25.9 19.8 18.5 29.6
A 9PKIR C 24.2 21.8 20.0 22.3
A 115081 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13)BRLEE cm 100 < 100 < 100 < 100 <
AEVEEREE (B 1|pH 7.8 7.8 7.9 7.9
OKIR:C) (24) (24) (23) (16)
B 2|D0O mg/1 10 11 11 10
B 3|BOD mg/1 0.8 1.1 < 0.5 1.3
B 4|coD mg/1 — — — 2.1
B 5/SS mg/1 1 1 1 1
B 6| KIGERE MPN/100m1 170 79 110 230
B T#R#ESR mg/1 — — — 0.62
B 8l#U v mg/1 — — — 0. 026
B FE|C 1IFITA mg/1 — — — < 0.001
cC 2/&®:vT v mg/1 — — — < 0.1
C 48 mg/1 — — — < 0.005
C 5|67 mL mg/1 — — — < 0.005
cC 6|lv# mg/1 — — — 0. 002
C  TIfIKER mg/1 — — — < 0. 0005
C 8|7/ FLKER mg/1 — — — < 0. 0005
C 9|PCB mg/1 — — — < 0. 0005
C 10|rYZoo=FlL v mg/1 — — — < 0.001
C N|FrIZ7ppnFL v mg/1 — — — < 0.001
C 12|VuHEfkiRH mg/1 — — — < 0.0002
C 13|¥Z7muRrRH mg/1 — — — < 0.001
C l4|l-2-YZ7mn=xH mg/1 — — — < 0. 0004
C 15|1-1-1pVZmBEZH mg/1 — — — < 0.001
C 16/1-1-2phV BT H mg/1 — — — < 0. 0006
C 17|1-1-YZ/mpnxFL mg/1 — — — < 0.001
C 18| %-1-2V/mu=xFL mg/1 — — — < 0.001
C 19|1-3-Y7mmnru~y mg/1 — — — < 0. 0002
C 20/F%7 5 A mg/1 — — — < 0. 0006
C 21|y~ (CAT) mg/1 — — — < 0.0003
C 2)/FF_ LT mg/1 — — — < 0.001
C 23|y Pr mg/1 — — — < 0.001
C 24lELv mg/1 — — — < 0.002
C 25|5-%% mg/1 — — — 0.2
C 2617 mg/1 — — — < 0.1
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEs mg/1 — — — < 0.004
D 4\IEfREER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0.37
E 4 fpREEEFE (ON) mg/1 — — — 0.2
E 9|4/ HUERREY mg/1 — — — 0. 009
HOERBRES |F 2)VBE E — — — 1.9
F  3|EER ms/m — — — 11
F 5|3 %ERGE {#/100m1 — — — 220
F 23|14 mg/1 — — — 12
el |6 16|27 m= kL7 = o (CNP. mg/1 — — — < 0. 0005
AERSE [H  8]2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18 h U na A& A RREE mg/1 — — — 0. 025
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AT FRLLTAE
618K 6191 6H9n ST
— (18:00) (0:00) (6:00)
e 170010-4




T
RAEFA B R TAE
7TH20H 7TH20H 7TH21H 7TH21H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE e e e KR
A 2| RE ki ki B i
A 3 |ERIKIEH AN 17:11 23:51 6:17 13:55
A 4|KAT m 0.18 0.18 0.16 0. 20
A 6| KEE m 0. 68 0. 68 0. 66 0.70
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 32.5 26. 8 23.8 32.1
A 9PKIR C 26.5 24. 8 23.7 26. 1
A 11448 meaEl | RESEN | BEeFEY | EKEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.5 7.5 7.6 7.6
OKIR:C) (18) (17) (18) (17
B 2|D0 mg/1 9.0 9.3 9.1 9.4
B 3|BOD mg/1 < 0.5 < 0.5 0.6 0.8
B 4|COD mg/1 — — — 1.6
B 5|SS mg/1 1 1 1 <1
B 6| KIGERE MPN/100m1 490 2,400 3, 500 7,900
B 7#ESE mg/1 — — — 0.56
B 8y mg/1 — — — 0. 023
e FE[C 1B KRITA mg/1 - - = -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HERREER mg/1 — — — 0.23
E 4 fpREEEFE (ON) mg/1 — — — 0.3
E 9|4/ HUERREY mg/1 — — — 0. 009
HOERBRES |F 2)VBE E — — — 1.5
F 3PEER ms/m - - - 7.6
F 5 3R {#/100m1 — — — 700
F_ 23 kA A mg/1 — — — 11
R G167 L= L7 = (CNP. mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —
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AT FRRLTAE
TH20H 7TH20H 7TH21H o
FRVSE S (18:00) (0:00) o
E— 170010-13




T
RAEFA B R TAE
8H2H 8H3H 8H3H 8H3H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE EfE T e KR
A 2| RE = i B i
A 3 |ERIKIEH AN 17:36 23:00 6:30 14:02
A 4|KAT m 0. 06 0. 05 0. 06 0.02
A 6| KEE m 0. 56 0.55 0.56 0.52
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 29.8 27.5 29.0 32.3
A 9PKIR C 25.5 24. 8 24. 1 27.5
A 11448 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.7 7.4 7.3 8.0
OKIR:C) (18) (20) (21) 27)
B 2|D0 mg/1 9.5 8.8 8.2 9.5
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 — — — 1.9
B 5|SS mg/1 <1 <1 1 <1
B 6| KIGERE MPN/100m1 7,900 1, 100 3, 300 680
B 7#ESE mg/1 — — — 0.49
B 8l#U v mg/1 — — — 0.018
e FE[C 1B KRITA mg/1 - - — -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — — < 0.0006
C 21|y~ (CAT) mg/1 — — — < 0.0003
C 2)/FF_ LT mg/1 — — — < 0.001
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|E mg/1 — — — < 0.004
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HERREER mg/1 — — — 0.16
E 4 fpREEEFE (ON) mg/1 — — — 0.3
E 9|4/ HUERREY mg/1 — — — 0.010
HOERBRES |F 2)VBE E — — — 0.8
F_ 3PEHER ms/m - - - 8.6
F 5 3R {#/100m1 — — — 130
F_ 23 kA A mg/1 — — — 9.6
el |6 16|27 m= kL7 = o (CNP. mg/1 — — — < 0.0005
KIERSE [H  8[2-MIB ng/1 — — — <5
H 9/vAAIV ng/1 — — — <5
H 18 h U na A& A RREE mg/1 — — — 0. 041




[ i

AT FRLLTAE
8H2H 8H3H 8A3H ST
FRVSE S (18:00) (0:00) o
E— 170010-18




T
RAEFA B R TAE
9H25H 9H26H 9H26H 9H26H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE e e e KR
A2 KR i g G i
A 3 |ERIKIEH AN 17:33 23:51 6:16 14:30
A 4|KAT m 0.02 0.02 0.02 0.02
A 6| KEE m 0.52 0.52 0.52 0.52
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 22.8 18.2 15.3 26. 0
A 9PKIR C 23.7 21.8 20. 5 23.0
A 11448 meaEl | RESEN | BEeFEY | EKEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.7 7.7 7.7 7.6
OKIR:C) (22) (22) (22) (23)
B 2|D0 mg/1 9.5 9.2 9.9 9.8
B 3|BOD mg/1 0.7 0.6 0.6 0.7
B 4|COD mg/1 — — — 1.6
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIBHRE MPN/100m1 7,900 2,200 1, 700 1, 700
B T#R#ESR mg/1 — — — 0.51
B 8[#AUY mg/1 - - - 0.012
e FE[C 1B KRITA mg/1 - - = -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0.17
E 4 fpREEEFE (ON) mg/1 — — — 0.3
E 9|4/ HUERREY mg/1 — — — 0. 005
HOERBRES |F 2)VBE E — — — 0.7
F  3|EER ms/m — — — 10
F 5| #EERIGHE {i#/100m1 — — — 90
F 23|14 mg/1 — — — 11
BEE |G 16|27 ml= hL 7 = 2 (CNP. mg/1 — — — —
AERSE [H  8]2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —




[ i

AT FRRLTAE
9A25H 9H26H 97261 STo6T]
FRVSE S (18:00) (0:00) ot
E— 170010-26




T
RAEFA B R TAE
10A11H 107 12H 107 12H 107 12H
RS OE (18:00) (0:00) (6:00)
BB (A L EKAOE EfE T e e
A 2| K fii§ i§ fii§ fii§
A 3 |ERIKIEH B4y 17:51 0:09 6:28 9:35
NRERA m -0. 04 -0. 04 -0. 04 -0. 06
A 6| KEE m 0. 46 0. 46 0. 46 0.44
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 23.5 19.7 18.2 26. 4
A 9PKIR C 23.0 21.8 20. 6 21.6
A 115081 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13)BRLEE cm 100 < 100 < 100 < 100 <
AEVEEREE (B 1|pH 7.7 7.8 7.8 7.5
OKIR:C) (24) (24) (24) (24)
B 2|D0O mg/1 10 9.9 10 9.7
B 3|BOD mg/1 0.6 < 0.5 < 0.5 < 0.5
B 4|coD mg/1 — — — 1.6
B 5/SS mg/1 <1 <1 <1 <1
B 6| KIBHRE MPN/100m1 3, 400 3, 500 2, 400 5, 400
B T#R#ESR mg/1 — — — 0. 49
B 8l#U v mg/1 — — — 0.011
B FE|C 1IFITA mg/1 — — — < 0.001
C 2|(®>vT7v mg/1 — — — < 0.1
C 48 mg/1 — — — < 0.005
C 5|67 mL mg/1 — — — < 0.005
cC 6|lv# mg/1 — — — 0. 002
C  TIfIKER mg/1 — — — < 0. 0005
C 8|7/ FLKER mg/1 — — — < 0.0005
C 9|PCB mg/1 — — — < 0.0005
C 10|rYZoo=FlL v mg/1 — — — < 0.001
C N|FrIZ7ppnFL v mg/1 — — — < 0.001
C 12|VuHEfkiRH mg/1 — — — < 0.0002
C 13|¥Z7muRrRH mg/1 — — — < 0.001
C l4|l-2-YZ7mn=xH mg/1 — — — < 0.0004
C 15|1-1-1pVZmBEZH mg/1 — — — < 0.001
C 16/1-1-2phV BT H mg/1 — — — < 0.0006
C 17|1-1-YZ/mpnxFL mg/1 — — — < 0.001
C 18| %-1-2V/mu=xFL mg/1 — — — < 0.001
C 19|1-3-Y7mmnru~y mg/1 — — — < 0.0002
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
C 23|y Pr mg/1 — — — < 0.001
C 24lELv mg/1 — — — < 0.002
C 25|5-%% mg/1 — — — 0.1
C 2617 mg/1 — — — < 0.1
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HMEIEEFR mg/1 — — — 0.18
E 4 fpREEEFE (ON) mg/1 — — — 0.3
E 9|4/ HUERREY mg/1 — — — 0. 004
HOERBRES |F 2)VBE E — — — 0.9
F_ 3PEHER ms/m - - - 8.0
F 5 3R {#/100m1 — — — 140
F_ 23 kA A mg/1 — — — 15
TR |G 16| 7 mb= L7 = (CNP, mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —




[ i

AT FRLLTAE

100110 | 1080120 | 10A12H | 107120
FRVSE S (18:00) (0:00) s
E— 170010-31




T
RAEFA B R TAE
11A16H 11A17H 11A17TH 11A17H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE EfE T e KR
A 2| RE = = = g
A 3 |ERIKIEH B4y 17:30 0:17 6:15 13:53
A 4|KAT m -0. 04 -0. 04 -0. 04 -0. 04
A 6| KEE m 0. 46 0. 46 0. 46 0. 46
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 10. 6 7.8 9.6 11.2
A 9PKIR C 14.2 13.3 12.8 14.0
A 115081 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 7.9 7.9 7.8 7.8
OKIR:C) (15) (15) (17) (16)
B 2|D0 mg/1 11 11 12 12
B 3|BOD mg/1 0.9 1.0 0.5 1.0
B 4|COD mg/1 — — — 1.4
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGERE MPN/100m1 49 79 93 790
B 7#ESE mg/1 — — — 0.55
B 8l#U v mg/1 — — — 0. 008
e FE[C 1B KRITA mg/1 - - — -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
Hek#E (D 1|7/ — 08 mg/1 — — — < 0.05
D 2|8 mg/1 — — — < 0.004
D 3|E mg/1 — — — < 0.004
D A\VEfRMEER mg/1 — — — < 0.03
D 5\fRE~ T mg/1 — — — < 0.005
D 6/(®)7nvAi mg/1 — — — < 0.05
D 8n—~FYHHHE mg/1 — — — —
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HERREER mg/1 — — — 0.22
E 4 fpREEEFE (ON) mg/1 — — — 0.3
E 9|4/ HUERREY mg/1 — — — 0. 007
HOERBRES |F 2)VBE E — — — 0.4
F_ 3PEHER ms/m - - - 7.2
F 5 3R {#/100m1 — — — 350
F_ 23 kA A mg/1 — — — 12
TR |G 16| 7 mb= L7 = (CNP, mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18 h U na A& A RREE mg/1 — — — 0. 020




[ i

A FRETAE

11H16H | 11A178 | 11A17H | 11IA17H
FRVSE S (18:00) (0:00) o
E— 170010-36




T
RAEFA B R TAE
127 19H 12720H 12720H 127 19H
RS OE (18:00) (0:00) (6:00)
BB (A 1[EKRATE EfE T e KR
A 2| RAge fii§ i§ fii§ fii§
A 3 |ERIKIEH B4y 17:59 0:06 6:00 11:30
A 4|KAT m -0. 06 -0. 06 -0. 06 -0. 07
A 6| KEE m 0.44 0.44 0. 44 0.43
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 4.0 -0.4 0.0 6.2
A 9PKIR C 6.6 6.2 5.6 7.0
A 11448 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 8.0 8.0 8.0 7.6
OKIR:C) (10) (10) (10) (14)
B 2|D0 mg/1 14 14 13 13
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 — — — 1.3
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIGERE MPN/100m1 350 350 130 1, 300
B 7#ESE mg/1 — — — 0.53
B 8l#U v mg/1 — — — 0. 003
e FE[C 1B KRITA mg/1 - - — -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.001
E  3|HERREER mg/1 — — — 0. 42
E 4/ G#EZEFE (ON) mg/1 — — — 0.10
E 9|4/ HUERREY mg/1 — — — < 0.003
HOERBRES |F 2)VBE E — — — 0.4
F_ 3PEHER ms/m - - - 9.6
F 5| BEMEHERIGA {#/100m1 — — — 30
F_ 23 kA A mg/1 — — — 17
TR |G 16| 7 mb= L7 = (CNP, mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —




[ i

AT FRLLTAE

1201908 | 128200 | 124200 | 127190
FRVSE S (18:00) (0:00) e
E— 17001041




T
RAEFA B R 184
LALLA 1H12A 1H12A 1H12A
RS OE (18:00) (0:00) (6:00)
BB (A 1[EKRATE e e e KR
A 2| RE ki ki B i
A 3 |ERIKIEH B4y 17:30 0:14 5:58 13:40
A 4|KAT m -0. 04 -0. 04 -0. 04 -0. 04
A 6| KEE m 0. 46 0. 46 0. 46 0. 46
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 6.2 0.2 -1.2 10. 4
A 9PKIR C 7.2 6. 4 5.4 7.4
A 11448 meaEl | RESEN | BEeFEY | EKEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 8.2 8.3 8.4 7.9
OKIR:C) (10) (12) (10) (10)
B 2|D0 mg/1 14 14 14 14
B 3|BOD mg/1 < 0.5 < 0.5 0.5 0.9
B 4|COD mg/1 — — — 1.3
B 5|SS mg/1 <1 <1 <1 <1
B 6| KIBHRE MPN/100m1 33 49 33 23
B 7#ESE mg/1 — — — 0.55
B 8l#U v mg/1 — — — 0. 006
e FE[C 1B KRITA mg/1 - - = -
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 002
E  3|HERREER mg/1 — — — 0. 39
E 4 fpREEEFE (ON) mg/1 — — — 0.2
E 9|4/ HUERREY mg/1 — — — 0. 005
HOERBRES |F 2)VBE E — — — 0.6
F_ 3PEHER ms/m - - - 8.0
F 5| BEMEHERIGA {#/100m1 — — — 28
F_ 23 kA A mg/1 — — — 14
TR |G 16| 7 mb= L7 = (CNP, mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —




[ i

AT PR 184E
1A11H 1H12H 1121 THiZE
FRVSE S (18:00) (0:00) s
E— 170010-44




T
HAEEH A Tk 1842
2A1H 2H1H 2H2H 2H2H
RS OE (18:00) (0:00) (6:00)
BHBLR (A LERKRAIE EfE T e KR
A 2| RE = = i E
A 3 |ERIKIEH AN 17:13 23:45 5:40 11:24
A 4|KAT m -0. 02 0. 00 0. 00 -0.01
A 6| KEE m 0.48 0. 50 0. 50 0.49
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 9.2 7.3 3.5 9.7
A 9PKIR C 11.0 10.0 9.4 9.7
A 11448 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 8.1 8.1 8.1 7.7
OKIR:C) (17) (16) (17) (13)
B 2|D0 mg/1 13 12 12 13
B 3|BOD mg/1 < 0.5 0.6 0.9 < 0.5
B 4|COD mg/1 — — — 1.5
B 5|SS mg/1 1 1 1 1
B 6| KIGERE MPN/100m1 240 540 350 220
B T#R#ESR mg/1 — — — 0.65
B 8y mg/1 — — — 0. 009
fk FlC 1|HFIUA mg/1 — — — —
C 2|(®>vT7v mg/1 — — — —
C 4\6h mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 100NV ZoEZFL mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15/1-1-1hV 7o mg/1 — — — —
C 16|l-1-2hY 7o mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — — —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-o3 mg/1 — — — —
C 2617 mg/1 — — — —
Heklm (D 17 =/ —/UH mg/1 — — — —
D 2|4 mg/1 — — — _
D 3|E mg/1 — — — < 0.004
D A\VEfRMEER mg/1 — — — —
D 5\fRE~ T mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8n—~FYHHHE mg/1 — — — —
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0. 005
E  3|HERREER mg/1 — — — 0.53
E 4/ G#EZEFE (ON) mg/1 — — — 0.1
E 9|4/ HUERREY mg/1 — — — 0. 004
HOERBRES |F 2)VBE E — — — 0.9
F  3|EER ms/m — — — 7.8
F 5|3 %ERGE {i#/100m1 — — — 49
F 23|14 mg/1 — — — 13
BEE |G 16|27 ml= hL 7 = 2 (CNP. mg/1 — — — —
AERSE [H  8]2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — — —
H 18K U o X ¥ ARLEE mg/1 — — — 0.018




[ i

AT R84
2A1H 2A1H 2A2H ST
FRVSE S (18:00) (0:00) e
E— 170010-47




T
RAEFA B R 184
3HTH 3H8H 3H8H 3H8H
RS OE (18:00) (0:00) (6:00)
BB (A 1[EKRATE EfE T e KR
A 2| RE ki ki B i
A 3 |ERIKIEH 4y 17:59 0:14 6:08 10:00
A 4|KAT m 0.16 0.16 0.16 0.18
A 6| KEE m 0. 66 0. 66 0. 66 0. 68
A TIERAKOKEE m 0.10 0.10 0.10 0.10
A 8|&IA C 12.7 6.4 5.5 12.8
A 9PKIR C 11.3 10. 2 9.5 10. 4
A 11448 meaml | REFEH | BEeFEY | BEeEY
A 12|BK 5L 5L 5L e 5L
A 13|ERLE cm 100 < 100 < 100 < 100 <
AVEREEE B 1|pH 8.0 7.8 7.7 7.4
OKIR:C) (16) (17) (16) (15)
B 2|D0 mg/1 12 12 12 12
B 3|BOD mg/1 1.2 1.1 1.4 0.7
B 4|COD mg/1 — — — 1.5
B 5|SS mg/1 2 2 2 2
B 6| KIGERE MPN/100m1 79 170 70 330
B T#R#ESR mg/1 — — — 0.68
B 8y mg/1 — — — 0.010
e FE[C 1B KRITA mg/1 - - — -
C 2|(®>vT7v mg/1 — — — —
C  4%n mg/1 — — — —
C 5|6ffizvmxi mg/1 — — — —
cC 6|lv# mg/1 — — — —
C  TIakeE mg/1 — — — —
C 8|7 /LF/LkEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 ro7ZuupxFLv mg/1 — — — —
C 12|UEfbiRE mg/1 — — — —
C 13|¥7muaRrH mg/1 — — — —
C 14|1:2-Y7uouxH mg/1 — — — —
C 15|1-1-1FV 7= mg/1 — — — —
C 16|1-1-2hV 7= mg/1 — — — —
C 17|1-1-YZ/mpnxFL mg/1 — — — —
C 18| %-1-2V/mu=xFL mg/1 — — — —
C 19/1:3-Y7unrra~ mg/1 — — — —
C 20/F%7 5 A mg/1 — — _ —
C 21|y~ (CAT) mg/1 — — — —
C 22| FARANT mg/1 — — — —
c 23| ¥ mg/1 — — — —
C 24lELv mg/1 — — — —
C 25|5-%% mg/1 — — — —
C 2617 mg/1 — — — —
BEAKHH] (D 1|7/ — NV mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEEH mg/1 — — — —
D A\VEfRMEER mg/1 — — — —
D 5|~ mg/1 — — — —
D 6/(£) i mg/1 — — — —
D 8 n—~F¥ AhHWE mg/1 - - - -
FXENL |E |7 oE=THEES mg/1 — — — < 0.05
E  2|WmBEER mg/1 — — — 0.003
E  3|HERREER mg/1 — — — 0. 56
E 4 fpREEEFE (ON) mg/1 — — — 0.1
E 9|4/ HUERREY mg/1 — — — 0. 004
HOERBRES |F 2)VBE E — — — 1.2
F 3PEER ms/m - - - 7.5
F 5| BEMEHERIGA {#/100m1 — — — 31
F_ 23 kA A mg/1 — — — 14
R G167 L= L7 = (CNP. mg/1 — — — —
KIERSE [H  8[2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — — —
H 18|% F U o A ¥ ARG mg/1 — — — —




[ i

AT R84
3ATH 3A8H 3A8H STST
FRVSE S (18:00) (0:00) o
E— 170010-52




[t G GBALEE)
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A11H 1A11H 1A 120 1A 120
BiHOEE A 1| ERKLE e e e e
A 2\ K& = = = i
A 3EKIFH B4y 17:28 23:53 5:40 16:12
A AlKAT m 0.04 0. 06 0. 06 0.05
A 114481 sl | sl | EAED | RaEH
A 13)BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 2H14H 2H14H 2H15H 2H15H
BIHOEE A 1| ERKLE e e e e
A 2| K 55 = = 5§
A 3BKIEH B4y 9:55 17:13 0:05 6:17
A AlKAT m 0.22 0.16 0.08 0. 06
A 11448 sl | mEesEl | EAE | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | CERRLITE | SERRLTE | SERRLTE
HEXS 3H1H 3H1H 3H2H 3H2H
BIHOEE A 1| ERKNLE Je e e e
A 2| K I 75 = =
A 3BKIEH B4y 17:06 23:53 6:03 12:53
A AlKAE m 0.08 0.08 0.08 0. 07
A 11448 el | mesEl | EEEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | CERRLITHE | SERRLTE | SERRLTE
FHExtg 5H25H 5H25H 5H26H 5H26H
BIHOEE A 1| ERKNLE Je e Je e
A 2| K 75 75 75 75
A 3|ERAKEEZ B4y 17:40 23:19 6:25 14:30
A AlKAE m 0.02 0.02 0. 02 0.01
A 114081 mEEy | Basy | BedEY | Fasd
A 13|BEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRITE | SERRLTE | SERRLTE
HEXS 6H8H 6H8H 6H9H 6H9H
BIHOEE A 1 |ERKLE Je Je e e
A 2K 75 75 75 75
A 3|ERAKEEZ B4y 17:25 23:58 6:10 15:45
A AlKAE m -0. 06 -0. 06 -0. 06 -0.07
A 114481 mEEy | BaEy | BedEY | &asd
A 13|BLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | SERRITHE | SERRLTE | SERRLTE
FHEXtg 7TH20H 7TH21H 7TH21H 7TH21H
BIHOEE A 1| ERKLE e e e e
A 2| K 75 75 75 75
A 3|ERAKEEZ B4y 17:11 23:51 6:17 13:55
A AlKAE m 0.18 0.18 0.16 0. 20
A 114481 mEEy | BaEy | BesEY | Fasd
A 13|BEE cm 100 < 100 < 100 < 100 <




[t G GBALEE)
FRAEA H| SEERLITAE | ERRLITHE | SERRLTE | SERRLTE
HES 8H2H 8H3H 8H3H 8H3H
BIHOEE A 1| ERKLE e e Fe e
A 2| K = 75 5 5
A 3BKIFH B4y 18:31 23:00 6:30 14:02
A AlKAT m 0. 06 0.05 0. 06 0. 02
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtG 9H25H 9H25H 9H 26 H 9H26H
BIHOEE A 1| ERK(LE e e e e
A 2| K 5 5 75 75
A 3BKIEH B4y 17:33 23:51 6:16 14:30
A AlKAE m 0. 02 0. 02 0. 02 0.02
A 114481 fEl | meaEl | EAE | EaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SERRLTA | ERRLITHE | SERRLTE | SERRLTE
FHExtg 107 11H 107 12H 107 12H 107 12H
BiHOEE |A 1| ERKLE e e Je e
A 2| K 5 75 75 75
A 3BKIEH 4y 17:51 0:09 6:28 9:35
A AlKAE m -0.04 -0. 04 -0. 04 -0. 06
A 11408 fsEl] | mesEl | eS| RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA B SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHEXg 11716H 11A17H 11A17H 11A17H
BiHOEE A 1| ERKLE e Je e e
A 2| K = = = =
A 3BKIFH 4y 17:30 0:17 6:15 13:53
A AlKAE m -0.04 -0. 04 -0. 04 -0. 04
A 114081 mEEy | BaEy | BedEY | Fasd
A 13)BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRITE | SERRITE | SERRLTE
FHExtg 127 19H 127 19H 12H20H 12H20H
BIHOEE A 1| ERKLE Je Je e e
A 2| K 75 75 75 75
A 3|ERAKEEZ B4y 11:30 17:59 0:06 6:00
A AlKAT m -0.07 -0. 06 -0. 06 -0. 06
A 114481 mEEy | masy | meEY | &asd
A 13|BEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEEKI8HE | CERKISHE | SEAKISHE | SEAK1ISEE
FHEXg 1A11H 1A 120 1A 120 1A 120
BIHOEE A 1| ERKLE e e Je ==
A 2K i 75 75 75
A 3|ERAKEEZ B4y 17:30 0:14 5:58 13:40
A AlKAE m -0.04 -0. 04 -0. 04 -0. 04
A 114081 mEEy | BaEy | mesEY | Kasd
A 13|BEE cm 100 < 100 < 100 < 100 <




[t G GBALEE)
TAEFEH B FRISE | EARISHE | EERISHE | EE18HE
HES 2H1H 2H1H 27 2H 2 2H
BIHOEE A 1| ERKLE AR AR AR e
A 2\ KfE = = i =
A 3BKIFH B4y 17:13 23:45 5:40 11:24
A AlKAT m -0. 02 0. 00 0. 00 -0.01
A 114481 mEEy | BaEy | medEy | Fasd
A 13|BHLEE cm 100 < 100 < 100 < 100 <
TAEFEH B FRISE | EARISHE | ERRISHE | EE18HE
HEXS 3HTH 3H8H 3H8H 3H8H
BIHOEE A 1| ERK(LE AR R AR e
A 2| K 5 5 75 I
A 3BKIEH B4y 17:59 0:14 6:08 10:00
A AlKAE m 0.16 0.16 0.16 0.18
A 114481 mEEH | Ry | BedEy | FasH
A 13|BHEE cm 100 < 100 < 100 < 100 <




[ s: ) ki
FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A 120 2H14H 3H2H 5H26H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| K 5 = = I
A 3BKIFH B4y 16:25 17:38 5:43 16:05
A 6| RKEE m 1.03 1.06 1.00 1.10
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 4.5 8.8 0.0 27.7
A 9PKIE C 7.0 9.2 7.2 23.5
A 101 | F#RFH 4y 16:27 18:35 6:02 16:20
A 102 R B4y 10:32 12:06 11:54 9:36
A 11448 It | measEl | BeE | ReaEH
A I2|RK 5 i 5L i 5L i 5L
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.9 7.3 8.2 7.6
(KIE.:°C) 9) (12) (8) (16)
B 2[D0 mg/1 14 12 13 9.7
B 3[BOD mg/1 0.8 < 0.5 1.0 2.4
B 4|coDp mg/1 1.5 1.2 1.6 2.8
B 5/SS mg/1 3 1 3 4
B 6| KIGHREEK MPN/100m1 330 49, 000 490 230
B T|#REH mg/1 0. 64 0.62 0.67 0.63
B 8V mg/1 0. 020 0.012 0.016 0. 040
e FlC 1|FZFIUA mg/1 — — — —
C 2/(B®)vTv mg/1 — — — —
C 4% mg/1 — — — _
C 5/6ffirvmxi mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LkER mg/1 — — — —
C 9|pcB mg/1 — — — —
C 10|rYV I TF L mg/1 — — — —
C 1|7 hT7Z7upxFLv mg/1 — — — —
C 12|\t iRE mg/1 — — — —
C 13|¥r7muRrHv mg/1 — — — —
C l4|1:2-Y7unpnxHy mg/1 — — — —
C 15|1-1-1 8NV Zmm=xH mg/1 — — — —
C 16|1-1- 2RV Zmm=xH mg/1 — — — —
cC 171'1-YZaouxFlL v mg/1 — — — —
C 18 A-1-2¥/munxTFL mg/1 — — — —
C 19(1:3-YZ7murm~X mg/1 — — — —
C 200F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FA T mg/1 — — — —
C 23| ¥ mg/1 — — — —
C 24 BL v mg/1 — — — —
C 25|50 mg/1 — — — —
C 261135 % mg/1 — — — —
HEAREH D 1| 7=/ — V8 mg/1 — — — —
D 24 mg/1 — — — —
D 3|EsN mg/1 — < 0.004 — —
D 4| VEMRIESR mg/1 — — — —
D 5~ T mg/1 — — — —
D 6/(R)ruA mg/1 — — — —
D 8 n—~%HVUHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
BEl |E 2 MinyieRezE R mg/1 — — — —
E  3hHlEREESR mg/1 — — — —
HEREREE | 3|EER ms/m 320 118 80 83
F 5| #EERIBHE 1#/100m1 66 1, 600 38 41
F 231 4 mg/1 1, 500 320 230 1, 800
FEREE 160010-57 | 160010-64 | 160010-69 | 170010-1




[ s: ) ki
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 6H9H 7TH21H 8H3H 9H26H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| RKfE 5 5 5 5
A 3BKIFH 4y 16:15 13:44 14:15 8:50
A 6| RKEE m 1.50 1.00 0. 80 0.56
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 32.7 31.6 32.5 22.8
A 9PKIE C 27.0 26. 7 29.0 21.3
A 101 | F#RFH 4y 16:20 14:34 13:53 8:13
A 102 R B4y 9:36 7:50 7:17 16:29
A 114481 It | sl | EeEH | e
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.9 7.6 7.7 7.4
(KIE.:°C) (17 (18) @7 (22)
B 2[D0 mg/1 8.8 9.0 8.8 8.5
B 3[BOD mg/1 1.0 < 0.5 < 0.5 0.9
B 4|coDp mg/1 3.4 1.7 2.4 2.4
B 5/SS mg/1 6 2 4 4
B 6| KIGHREK MPN/100m1 330 5, 400 2,300 7,900
B 7|#REH mg/1 0.61 0. 65 0.55 0.63
B 8V mg/1 0. 053 0. 026 0. 029 0. 030
# FE|C 1B RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 4| mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/b# mg/1 0. 001 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ ILKER mg/1 < 0. 0005 — — —
C  9|pcB mg/1 < 0. 0005 — — —
C 10/RYZma=FL > mg/1 < 0.001 — — —
C 1|7 +T77apzFL v mg/1 < 0.001 — — —
C 12|\t iRE mg/1 < 0.0002 - — —
C 13|¥YrummAry mg/1 < 0.001 — — —
C 14|1:2-YZ7wou=xk mg/1 < 0.0004 — — —
C 15/1:1-1kYZmuxzH mg/1 < 0.001 — — —
C 16]1:1-2hVZmuxzH mg/1 < 0.0006 — — —
C 17]1:1-¥ZpuxFL v mg/1 < 0.001 — — —
C 18|y A-1-2V/muxFL mg/1 < 0.001 — — —
C 19]1:3-YZmurFuy mg/1 < 0.0002 — — —
C 201F 774 mg/1 < 0.0006 — < 0. 0006 —
C 21|~ (CAT) mg/1 < 0.0003 — < 0. 0003 —
C 22| F A hnT mg/1 < 0.001 — < 0.001 —
C 23XV mg/1 < 0.001 - - -
C 24| kLv mg/1 < 0.002 — — —
C 25|50 mg/1 0.2 — — —
C 26/1F5%# mg/1 0.8 — — —
HEAREH D 1| 7=/ — V8 mg/1 — — — —
D 24 mg/1 — — — —
D  3|#$h mg/1 0. 004 — 0. 005 —
D 4| VEfRIESR mg/1 — — — —
D 5~ T mg/1 — — — —
D 6/(D)7uA mg/1 — — — —
D 8 n—~%HVUtHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
BEl |E 2 MinyEeRezE R mg/1 0. 007 — — —
E  3|HMIEER mg/1 0.33 — — —
HEREREE | 3|EER ms/m 1, 000 19 680 430
F 5| #EERIBHE i#/100m1 150 860 100 720
F 231 4 mg/1 3, 200 41 2,100 1, 300
FEGEE 170010-4 | 170010-13 | 170010-18 | 170010-26




[ s: ) ki
FRAEA H| SEERLITAE | ERRITHE | SERRLTEE | SERRLSE
g 107 12H 11A17H 127 19H 1A 120
BiHOEE A 1| ERKLE ety ety ety ety
A 2| RKfE 5 & 5 5
A 3BKIFH 4y 9:23 15:00 17:00 13:55
A 6| RKEE m 1.50 0.98 1.20 2.00
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 24.2 12.0 5.8 10.0
A 9PKIE C 23.0 14.2 6.5 7.8
A 101 | F#RFH ) 9:34 15:28 17:04 14:06
A 102 R B4y 17:13 9:34 11:14 8:13
A 114481 It | sl | EeEH | e
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm 100 < 100 < 100 < 100 <
AEIEEREE (B 1|pH 7.5 7.6 8.4 8.5
(KIE.:°C) (24) (16) (14) (11)
B 2[D0 mg/1 9.2 10 14 14
B 3[BOD mg/1 < 0.5 0.7 < 0.5 0.5
B 4|coDp mg/1 2.2 2.3 2.1 2.0
B 5/SS mg/1 2 2 2
B 6| KIGHREK MPN/100m1 7,900 3, 300 490 14
B 7|#REH mg/1 0.58 0. 59 0. 66 0. 36
B 8V mg/1 0. 025 0. 025 0.019 0.015
# FE|C 1B RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 4| mg/1 < 0.005 — — —
C 5/6frai mg/1 < 0.005 — — —
C 6/b# mg/1 < 0.001 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ ILKER mg/1 < 0.0005 — — —
C  9|pcB mg/1 < 0.0005 — — —
C 10/RYZma=FL > mg/1 < 0.001 — — —
C 1|7 +T77apzFL v mg/1 < 0.001 — — —
C 12|\t iRE mg/1 < 0.0002 - — —
C 13|¥YrummAry mg/1 < 0.001 — — —
C 14|1:2-YZ7wou=xk mg/1 < 0.0004 — — —
C 15/1:1-1kYZmuxzH mg/1 < 0.001 — — —
C 16]1:1-2hVZmuxzH mg/1 < 0.0006 — — —
C 17]1:1-¥ZpuxFL v mg/1 < 0.001 — — —
C 18|y A-1-2V/muxFL mg/1 < 0.001 — — —
C 19]1:3-YZmurFuy mg/1 < 0.0002 — — —
C 201F 774 mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FA T mg/1 — — — —
C 23XV mg/1 < 0.001 - - -
C 24| kLv mg/1 < 0.002 — — —
C 25|50 mg/1 0.1 — — —
C 26/1F5%# mg/1 0.3 — — —
PGS (D 1|7 =/ — IV mg/1 < 0.05 — —
D 2|4 mg/1 — < 0.004 — —
D 3|Hs mg/1 — < 0.004 — —
D 4\IEFRIESR mg/1 — < 0.03 — -
D 5~ T mg/1 — 0.010 — —
D 6/(®)7nmAi mg/1 — < 0.05 — —
D 8 n—~%HVUtHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
BEl |E 2 MinyEeRezE R mg/1 0. 004 — — —
E  3|HMIEER mg/1 0. 19 — — —
HERBRIE P 3| EEF ms/m 400 1,130 790 2,900
F 5| 3R H i#/100m1 360 220 43 4
F 231 4 mg/1 1, 200 4,900 2, 400 10, 000
FEGEE 170010-31 | 170010-36 | 170010-41 | 170010-44




[ s: ) ki
PAEEH B FRk1sE | FRk1s4E
FHExtg 2H2H 3H8H
BB (A L EKAE ety ety
A 2| RKfE 5 5
A 3|ERAKEEZ B4y 5:21 9:40
A 6K m 2.02 1.67
A TR m 0.10 0.10
A 8I&IA C 3.6 12.0
A 9PKIE C 9.5 10.9
A 101 | F#RFH WE: 4y 5:09
A 102 R B4y 11:31
A 114481 et | e
A 12|RK i 5L i 5L
A 13|BHEE cm 100 < 100 <
AVERET B 1|pH 7.9 7.4
(KIE.:°C) (16) (15)
B 2[D0 mg/1 12 11
B 3[BOD mg/1 0.6 0.5
B 4|coDp mg/1 2.5 1.9
B 5/SS mg/1 3 2
B 6| KIGHREK MPN/100m1 350 1, 300
B 7|HER mg/1 0.76 0.73
B 8fRU mg/1 0. 025 0.014
e FlC 1|FFIUA mg/1 — —
c 2/®>YTv mg/1 — —
C 4\%n mg/1 — —
C 5/6frai mg/1 — —
C 6/b# mg/1 — —
C  TlHIKER mg/1 — —
C 8|7/ F/LkEE mg/1 — —
C  9|pcB mg/1 — —
C 10|rYV BT L mg/1 — —
C 1|7 hT7Z7uvpuxFLv mg/1 — —
C 12|\t iRE mg/1 — —
C 13|¥r7muaRrAHv mg/1 — —
C l4|1-2-Y7upnxH mg/1 — —
C 15|1-1-1 8NV Zmm=xH mg/1 — —
C 16|11 2RV Zmm=xH mg/1 — —
cC 171'1-YZmouxFlL v mg/1 — —
C 18 A-1-2¥/unxTFL mg/1 — —
C 19(1:3-vyZ7murm~Xr mg/1 — —
C 201F 774 mg/1 — —
C 21|~ (CAT) mg/1 — —
C 2|FA T mg/1 — —
C 23| ¥r mg/1 — —
C 24 BL mg/1 — —
C 25|53 mg/1 — —
C 261135 %# mg/1 — —
HEAREH D 1| 7=/ — V8 mg/1 — —
D 2|4 mg/1 — —
D 3|Hs mg/1 < 0.004 —
D 4\IEFRIESR mg/1 — —
D 5\IEfRME~ T mg/1 — —
D 6/(&)7 vl mg/1 — —
D 8 n—~%HVUtHmE mg/1 < 0.5 < 0.5
Wik (B 2| HifHERTERE mg/1 — —
E  3hHlsREESR mg/1 — —
HERBRIE P 3| EEF ms/m 770 17
F 5| #EERIBHE {i#/100m1 52 50
F 231 4 mg/ 1 2, 400 42
FEGEE 170010-47 | 170010-52




[ e

PE) TR (B

FRAEA H| SEERLITAE | ERRITE | SERRLTE | SERRLTE
FHExtg 1A11H 1A11H 1A 120 1A 120
BiHOEE A 1| ERKLE it ety et it
A 2| KfE = = = I
A 3|ERAKEEZ B4y 17:48 23:34 5:18 16:25
(LA cm 159 194 16 94
A 114481 sl | sl | EAED | RaEH
A 13)BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtg 2H14H 2H14H 2H14H 2H15H
BIHOEE A 1| ERKLE ity it Vet it
A 2| KfE 55 = = 55
A 3BKIEH B4y 9:42 17:38 23:48 6:00
(A cm 214 70 241 109
A 11448 meEl | e | ReEY | ReEY
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | CERRLITE | SERRLTE | SERRLTE
FHExtg 3H1A 3H1A 3H2H 3H2H
BIHOEE A 1| ERKNLE ety et it it
A 2| K I 75 = =
A 3BKIEH B4y 17:22 23:38 5:43 13:15
(GiA cm 50 267 95 247
A 11448 el | mesEl | EEEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | CERRLITHE | SERRLTE | SERRLTE
FHExtg 5H25H 5H25H 5H26H 5H26H
BIHOEE A 1| ERKNLE ety et et ity
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 18:02 23:00 6:00 16:05
(GiA cm 102 328 163 7
A 11448 el | meaEl | EAEl | RaEH
A 13|BEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRITE | SERRLTE | SERRLTE
FHExg 6H8H 6H8H 6H9H 6H9H
BIHOEE A 1 |ERKLE ity it it ity
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 17:01 23:39 5:49 16:15
(GiA cm 65 309 169 36
A 114081 mfsEl] | mesEl | eS| RaEH
A 13|BLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLITAE | SERRITHE | SERRLTE | SERRLTE
FHEXtg 7TH20H 7TH21H 7TH21H 7TH21H
BIHOEE A 1| ERKLE ity ity et ety
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 17:27 23:35 5:58 13:44
WL cm 203 241 249 27
A 114481 fsEl] | sl | eS| RaEH
A 13|BEE cm 100 < 100 < 100 < 100 <




PR

PE) TR (B

FRAEA H| SEERLITAE | ERRLITHE | SERRLTE | SERRLTE
FHExtg 8H2H 8H3H 8H3H 8H3H
BIHOEE A 1| ERKLE ety it it it
A 2| KfE = 75 5 5
A 3|ERAKEEZ B4y 18:00 22:40 6:15 14:15
(GiiA cm 262 266 254 68
A 114481 sl | mesEl | EAE | RaEH
A 13| B cm 94 100 < 100 < 100 <
FRAEA H| SEERLITAE | ERRLITE | SERRLTE | SERRLTE
FHExtG 9H25H 9H25H 9H 26 H 9H26H
BIHOEE A 1| ERK(LE ety it it ity
A 2| KfE 5 5 75 75
A 3BKIEH B4y 17:50 23:31 6:00 8:50
(GiA cm 220 233 145 126
A 114481 fEl | meaEl | EAE | EaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SERRLTA | ERRLITHE | SERRLTE | SERRLTE
FHExtg 107 11H 10A11H 107 12H 107 12H
BiHOEE |A 1| ERKLE ety ity ity it
A 2| KfE 5 75 75 75
A 3BKIEH B4y 17:29 23:48 6:02 9:23
(A cm 251 207 159 104
A 11408 fsEl] | mesEl | eS| RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SERRLITA | ERRLITHE | SERRLTEE | SERRLTE
FHExtg 11716H 11716H 11A17H 11A17H
BiHOEE A 1| ERKLE ity it ity it
A 2\ RfE 2 2 £ 2
A 3|ERAKEEZ B4y 17:09 23:55 5:50 15:00
(GiA cm 175 137 144 118
A 114081 el | sl | EaEl | RaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEERLTAE | ERRLITHE | SERRLTE | SERRLTEE
FHExtg 127 19H 127 19H 127 19H 12H20H
BIHOEE A 1| ERKLE ety ity it ity
A 2| KfE 75 5 75 75
A 3|ERAKEEZ B4y 11:20 18:17 23:45 5:42
(GiA cm 296 141 231 35
A 114081 fsEl] | sl | eS| RaEH
A 13|BLEE cm 100 < 100 < 100 < 100 <
FRAEA H| SEEKI8HE | ERKISHE | SEAKISHE | SEAK1ISEE
FHEXG 1A11H 1A11H 1A 120 1A 120
BiHOEE A 1| ERKLE ity ety ity ety
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 17:10 23:55 5:41 13:55
WL cm 218 50 212 139
A 114481 fsEl] | el | eS| RaEH
A 13|BEE cm 100 < 100 < 100 < 100 <




[ e

PE) TR (B

FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
HES 2H1H 2H1H 2H2H 2H2H
BIHOEE A 1| ERKLE ety it it it
A 2| KfE = = i =
A 3BKIFH B4y 16:55 23:98 5:21 13:50
(GiiA cm 58 295 2 228
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm 100 < 100 < 100 < 100 <
FHAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISE
FHExtG 3HTH 3HTH 3H8H 3H8H
BIHOEE A 1| ERK(LE ety it it ity
A 2| KfE 5 5 75 75
A 3|ERAKEEZ B4y 17:44 23:58 5:53 9:40
(GiA cm 116 147 213 187
A 114481 fEl | meaEl | EAE | EaEH
A 13|BHEE cm 100 < 100 < 100 < 100 <




